

## NIVERSITY OF THE PHILIPPINES

LOS BANOS Los Banos, IV-A VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications)

<u>UPMO</u>

**UPLB BAC SECRETARIAT** BY: 150000 DATE: 31-001-14

NOV 05 2024 10:00m

UPLS-RQ- UPLB-RFQ-10-447-24 GOLOS DEADLNE OF SUBMISSION

UPLB-RQ-

DEADLINE OF SUBMISSION:

Suppliers Name:			
			_

Date Fund Code August 13, 2024

9370100

Contact Person EDWARD E. EUSEBIO

or Small Value Procurement PR# 169787

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

Note:

1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.

MOP

Contact No.

2. Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.

3. Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.

Quotation through fav/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).
 Quotations exceeding the Appoved Budget for Contract shall be rejected.
 Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation

7. Others:

ITEM No.	NAME AND DESCRIPTION OF ITEM	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank, For BAC/ Evaluators only)
1	Tire 700x15 12R LUG TYPE (GT) with Flap and Tube for front Suspension and Tire of Garbage Truck	рс	6	7,999.00	47,994.00				
2	Leaf Spring Bushing for front Suspension and Tire of Garbage Truck	рс	24	₽80.00	1,920.00				
3	King Pin for front Suspension and Tire of Garbage Truck	kit	1	6,890.00	6,890.00				
4	15" Rim for front Suspension and Tire of Garbage Truck	рс	3	3,800.00	11,400.00				
5	Tie Rod End for front Suspension and Tire of Garbage Truck	set	1	1,755.00	1,755.00				
4	Front Wheel Cylinder Assembly for front Suspension and Tire of Garbage Truck	рс	4	1,105.00	4,420.00				
1	Front Brake Shoe for front Suspension and Tire of Garbage Truck	kit	1	1,950.00	1,950.00				
8	Rear Wheel Cylinder Assembly for front Suspension and Tire of Garbage Truck	рс	4	1,105.00	4,420.00				
9	Rear Break Shoe for front Suspension and Tire of Garbage Truck	kit	1	1,950.00	1,950.00				
10	Cross Joint for front Suspension and Tire of Garbage Truck	рс	2	1,235.00	2,470.00				
I	Hydrolic oil for front Suspension and Tire of Garbage Truck	pail	1	5,500.00	5,500.00				
12	Clutch Master Assembly for front Suspension and Tire of Garbage Truck	рс	1	1,433.00	1,433.00				
B	Lower Clutch Assembly for front Suspension and Tire of Garbage Truck	рс	1	1,226.00	1,226.00				
19	Brake Master Assembly for front Suspension and Tire of Garbage Truck	pc	1	5,395.00	5,395.00				
r	Shock Absorber Front for front Suspension and Tire of Garbage Truck	рс	2	1,560.00	3,120.00				
14	Shock Absorber Rear for front Suspension and Tire of Garbage Truck	рс	2	2,080.00	4,160.00				
7	Alternator Belt for front Suspension and Tire of Garbage Truck	рс	1	1,250.00	1,250.00				
18	Aircon Belt for front Suspension and Tire of Garbage Truck	рс	1	1,050.00	1,050.00				
0	Overhauling Gasket for Pajero Engine Overhauling and Suspension Repair	set	1	6,331.00	6,331.00				
20	Piston (STD) for Pajero Engine Overhauling and Suspension Repair	set	1	8,450.00	8,450.00				

			Y			-
2	Piston Ring (STD) for Pajero Engine Overhauling and Suspension Repair	set	1	4,282.00	4,282.00	
2	Liner for Pajero Engine Overhauling and	set	1	8,320.00	8,320.00	
23	Suspension Repair Main Bearing (STD) for Pajero Engine	set	1	1,668.00	1,668.00	
	Overhauling and Suspension Repair Connecting Rod Bearing (STD) for Pajero	set	1	1,923.00	1,923.00	
24	Engine Overhauling and Suspension Repair Trust Washer Bearing (STD) for Pajero Engine	900000			2	
25	Overhauling and Suspension Repair Distributor Assembly for Pajero Engine	set	1	2,340.00	2,340.00	
24	Overhauling and Suspension Repair	pc	1	9,605.00	9,605.00	
27	High Tension Wire Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	2,854.00	2,854.00	
28	Timing Chain, Tensioner with Guide for Pajero Engine Overhauling and Suspension Repair	set	1	10,296.00	10,296.00	
29	Carburator Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	10,944.00	10,944.00	
06	Alternator Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	7,410.00	7,410.00	
31	Starter Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	9,100.00	9,100.00	
32	Valve for Pajero Engine Overhauling and Suspension Repair	рс	8	569.00	4,552.00	
33	Valve Guide for Pajero Engine Overhauling and Suspension Repair	рс	8	195.00	1,560.00	
34	Clutch Disc for Pajero Engine Overhauling and Suspension Repair	рс	1	3,120.00	3,120.00	
35	Pressure Plate for Pajero Engine Overhauling and Suspension Repair	рс	1	4,934.00	4,934.00	
36	Release Bearing for Pajero Engine Overhauling and Suspension Repair	рс	1	2,340.00	2,340.00	
37	Pilot Bearing for Pajero Engine Overhauling and Suspension Repair	рс	1	1,170.00	1,170.00	
38	Engine Machining For Pajero for Pajero Engine Overhauling and Suspension Repair	set	1	58,500.00	58,500.00	
39	Clutch Fan Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	1,950.00	1,950.00	
40	Radiator Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	15,600.00	15,600.00	
di	Radiator Hose Inlet for Pajero Engine	рс	1	1,300.00	1,300.00	
42	Overhauling and Suspension Repair Radiator Hose Outlet for Pajero Engine	рс	1	1,300.00	1,300.00	
47	Overhauling and Suspension Repair Radiator Hose Clamp for Pajero Engine		4	130.00	520.00	
42	Overhauling and Suspension Repair Fuel Pump Assembly for Pajero Engine	pc		20000000		
17	Overhauling and Suspension Repair Power Steering Belt for Pajero Engine	pc	1	3,250.00	3,250.00	
张	Overhauling and Suspension Repair	pc	1	910.00	910.00	
16	Alternator Belt for Pajero Engine Overhauling and Suspension Repair	рс	1	780.00	780.00	
0	Aircon Belt for Pajero Engine Overhauling and Suspension Repair	рс	1	1,170.00	1,170.00	
46	Inginition Coil Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	3,510.00	3,510.00	
49	By Pass Hose for Pajero Engine Overhauling and Suspension Repair	set	1	3,350.00	3,350.00	
اک	Front Upper Arm Bushing for Pajero Engine Overhauling and Suspension Repair	рс	4	520.00	2,080.00	
21	Front Lower Arm Bushing for Pajero Engine Overhauling and Suspension Repair	рс	4	1,014.00	4,056.00	
52	Pitman Arm Assembly (555) for Pajero Engine Overhauling and Suspension Repair	рс	1	3,900.00	3,900.00	
0	Idler Arm Assembly (555) for Pajero Engine Overhauling and Suspension Repair	pc	1	3,835.00	3,835.00	
-	· · · · · · · · · · · · · · · · · · ·					

	Tie Rod End Outer (555) for Pajero Engine Overhauling and Suspension Repair	рс	2	620.00	1,240.00		
4	Tie Rod End Inner (555) for Pajero Engine	рс	2	845.00	1,690.00		
Ţ\$	Overhauling and Suspension Repair Ball Joint Upper (555) for Pajero Engine	рс	2	1,270.00	2,540.00		
Sp	Overhauling and Suspension Repair Ball Joint Inner (555) for Pajero Engine						
10	Overhauling and Suspension Repair	pc	2	1,495.00	2,990.00		
58	Shock Absorber Assembly Front (KYB) for Pajero Engine Overhauling and Suspension Repair	рс	2	1,625.00	3,250.00		
59	Shock Absorber Assembly Rear (KYB) for Pajero Engine Overhauling and Suspension Repair	рс	2	1,495.00	2,990.00		
60	Power Steering Gear Box Kit for Pajero Engine Overhauling and Suspension Repair	kit	1	3,250.00	3,250.00		
61	Power Steering Pump Repair Kit for Pajero Engine Overhauling and Suspension Repair	kit	1	2,470,00	2,470.00		
62	Stabilizer Ink for Pajero Engine Overhauling and Suspension Repair	set	1	1,690.00	1,690.00		
17.4	Stabilizer Bushing for Pajero Engine Overhauling	pc	2	754.00	1,508.00		
	and Suspension Repair Brake Caliper Repair Kit for Pajero Engine	kit	1	2,340.00	2,340.00		
64	Overhauling and Suspension Repair Brake Pads Front (HiQ) for Pajero Engine	set	1	2,370.00	2,370.00		
Es	Overhauling and Suspension Repair Wheel Cylinder Assembly for Pajero Engine	KSVING.					
46	Overhauling and Suspension Repair	рс	2	1,170.00	2,340.00		
Ų7	Brake Shoe Repair (HiQ) for Pajero Engine Overhauling and Suspension Repair	set	1	2,795.00	2,795.00		
68	Wheel Bearing Inner Front for Pajero Engine Overhauling and Suspension Repair	pc	2	2,210,00	4,420.00		
09	Wheel Bearing Outer Front for Pajero Engine Overhauling and Suspension Repair	рс	2	1,560.00	3,120.00		
70	Wheel Bearing Oil Seal for Pajero Engine Overhauling and Suspension Repair	рс	2	910.00	1,820.00		
71	Silicone Sealant (beta Gray) for Pajero Engine Overhauling and Suspension Repair	рс	2	260.00	520.00		
ħ	Cross Joint Main (GMB) for Pajero Engine	рс	2	998.00	1,996.00		
333	Overhauling and Suspension Repair  Cross Joint For Transfer Case (GMB) for Pajero Engine Overhauling and Suspension Repair	рс	2	520.00	1,040.00		
all all	Leaf Spring Bushing for Pajero Engine	рс	12	78.00	936.00		
35	Overhauling and Suspension Repair Stabilizer Link Rear for Pajero Engine	set	1	1,274.00	1,274.00		
76	Overhauling and Suspension Repair Stabilizer Bushing Rear for Pajero Engine	set	1	1,417.00	1,417.00		
	Overhauling and Suspension Repair Steering Wheel Assembly With Bosskit for			.,	.,,,,,,,,		
中	Pajero Engine Overhauling and Suspension Repair	pc	1	7,410.00	7,410.00		
88	Engine Support Left and Right for Pajero Engine Overhauling and Suspension Repair	рс	2	945.00	1,890.00		
71	Transmission Support for Pajero Engine Overhauling and Suspension Repair	рс	1	2,125.00	2,125.00		
80	Tire 235/75 R15 A/T (GT) for Pajero Engine Overhauling and Suspension Repair	рс	5	8,485.00	42,425.00		
81	Clutch Master Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	2,275.00	2,275.00		
81	Lower Clutch Assembly for Pajero Engine Overhauling and Suspension Repair	рс	1	1,810.00	1,810.00		
83	Y Fork for Clutch for Pajero Engine Overhauling and Suspension Repair	рс	1	2,500.00	2,500.00		
84	Flexible Hose for Pajero Engine Overhauling and Suspension Repair	рс	3	1,000.00	3,000.00		
-	ouspension (Aspall					 	 

Brake master Assembly for Pajero Engine Overhauling and Suspension Repair	pc 1	2,500.00	2,500.00		
4	Total		431,454,00	TOTAL QUOTED AMOUNT IN V	VORDS:
Reviewed and Checked By					
e quote at your government price (including VAT) and state that the time				ited if we can have your quotation in	the office as soon as possit
	before	the deadline stated h		EONIDAS A. CAOIL	1
IS AND CONDITIONS:				Chief MTGCS	
interlineations, erasure, or overwriting shall be valid only if they are signed or		Negotiated Procurement-Small Value Procurement	Negotiated Procurement- Lease of Real	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services	Negotiated Procurement- Emergency
interlineations, erasure, or overwriting shall be valid only if they are signed or rements for Suppliers (GPPB Resolution No. 21-2017)	initiated by you Shopping	Negotiated Procurement- Small	Negotiated Procurement-	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive	Procurement-
interlineations, erasure, or overwriting shall be valid only if they are signed or ements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS	initiated by you Shopping	Negotiated Procurement-Small Value Procurement	Negotiated Procurement- Lease of Real Property or Venue	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services	Procurement- Emergency
interineations, erasure, or overwriting shall be valid only if they are signed or ements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  Mayor's/Business Permit  PhalGEPS Registration Number	Shopping (Section 52)	Negotiated Procurement-Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services	Procurement- Emergency (Section 53 2)
interlineations, erasure, or overwriting shall be valid only if they are signed or rements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  Mayor's/Business Permit  PhilGEPS Registration Number	Shopping (Section 52)	Negotiated Procurement-Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53.2)
interlineations, erasure, or overwriting shall be valid only if they are signed or ements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  Mayor's/Business Permit  PhilGEPS Registration Number  Professional license/ CV (consulting services)	Shopping (Section 52)	Negotiated Procurement-Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53.2)
LB reserves the right to reject any or all offers as may be considered most a  finterlineations, erasure, or overwriting shall be valid only if they are signed or  freements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  1 Mayor's/Business Permit 2 PhilGEPS Registration Number 3 Professional license/ CV (consulting services) 4 PCAB License (for infrastructure) 5 Income / Business tax returns (except for government agencies as lessor)	Shopping (Section 52)	Negotiated Procurement-Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53.2)
rinterlineations, erasure, or overwriting shall be valid only if they are signed or rements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  1 Mayor's/Business Permit 2 PhilGEPS Registration Number 3 Professional icense/ CV (consulting services) 4 PCAB License (for infrastructure)	Shopping (Section 52)	or any of your duly auth  Negotiated  Procurement- Small  Value Procurement (Section 53.9)  / / / FOR ABCS	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53.2)
Interfineations, erasure, or overwriting shall be valid only if they are signed or rements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  I Mayor's/Business Permit PhilGEPS Registration Number Professional ticensed CV (consulting services) PCAB License (for infrastructure) Income / Business tax returns (except for government agencies as lessor) Compliant Sworn Statement	Shopping (Section 52)	or any of your duly auth  Negotiated Procurement- Small Value Procurement (Section 53.9)  // // FOR ABC'S ABO'S 500K FOR ABC'S	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53.2)  // /  FOR ABC'S ABOVE 50K FOR ABC'S
Interlineations, erasure, or overwriting shall be valid only if they are signed or invenents for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  1 Mayor's/Business Permit 2 PhilGEPS Registration Number 3 Professional ticensed CV (consulting services) 4 PCAB License (for Infrastructure) 5 Income / Business tax returns (except for government agencies as lessor) 6 Omnibus Sworn Statement 7 NFCC for Infrastructure with ABC above Ph500k having carefully read and accepted your General Conditions, I/We quote	Shopping (Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9)  / FOR ABC'S ABOVE SOOK FOR ABC'S ABOVE SOK	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53 2)  //  //  FOR ABC'S ABOVE 50K FOR ABC'S ABOVE 500K FOR ABC'S
interlineations, erasure, or overwriting shall be valid only if they are signed or irements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  1 Mayor's/Business Permit 2 PhilCEPS Registration Number 3 Professional license/ CV (consulting services) 4 PCAB License (for infrastructure) 5 Income / Business tax returns (except for government agencies as lessor) 6 Omnibus Sworn Statement 7 NFCC for Infrastructure with ABC above Ph500k	Shopping (Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9)  / FOR ABC'S ABOVE SOOK FOR ABC'S ABOVE SOK	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53 2)  //  //  FOR ABC'S ABOVE 50K FOR ABC'S ABOVE 500K FOR ABC'S
Interlineations, erasure, or overwriting shall be valid only if they are signed or irements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  1 Mayor's/Business Permit 2 PhiloEPS Registration Number 3 Professional license/ CV (consulting services) 4 PCAB License (for infrastructure) 5 Income / Business tax returns (except for government agencies as lessor) 6 Omnibus Sworn Statement 7 NFCC for Infrastructure with ABC above Ph500k having carefully read and accepted your General Conditions, I/We quoted of the Company.	Shopping (Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9)  / FOR ABC'S ABOVE SOOK FOR ABC'S ABOVE SOK	Negotiated Procurement: Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53 2)  //  //  FOR ABC'S ABOVE 50K FOR ABC'S ABOVE 500K FOR ABC'S
Interlineations, erasure, or overwriting shall be valid only if they are signed or irements for Suppliers (GPPB Resolution No. 21-2017)  REQUIREMENTS  1 Mayor's/Business Permit 2 PhiloEPS Registration Number 3 Professional license/ CV (consulting services) 4 PCAB License (for infrastructure) 5 Income / Business tax returns (except for government agencies as lessor) 6 Omnibus Sworn Statement 7 NFCC for Infrastructure with ABC above Ph500k having carefully read and accepted your General Conditions, I/We quoted of the Company.	Shopping (Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9)  / FOR ABC'S ABOVE SOOK FOR ABC'S ABOVE SOK	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53 2)  //  //  FOR ABC'S ABOVE 50K FOR ABC'S ABOVE 500K FOR ABC'S